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d
A B and C invested T 80,000, ¥ 40,000 an

. r
T 80,000 respectively in a business. A left afte

six months. If total profit after eight molilthﬁ 15
¥ 40,050, then what is the share of B in the

profit ?

(1) ¥ 5,000
2) ¥ 9,000
{3y ¥ 8,000
@) 8,900

(5) Not attempted

A container contains 40 litres of milk. From this
container 4 litres of milk was taken out and
replaced by 4 litres of water: This process was
repeated further two times. How much milk is
left in the container ?

(1) 28 litres

(2) 29-16 litres
(3) 2634 litres
(4) 27-36 litres

(5) Not attempted

A is 30% more efficient than B. How much time
will they, working together, take to complete a
job which A alone could have done in 23 days ?

3
1) 20—
(1) 17&3.38

(2) 15days
(3) 11days
(4) 13 days

(5) _Not attempted
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4. a:ﬁ%ﬂﬁmmi
4T, 64T, § Ygg
Hee # Wt §
et am =5t 9
(1) 15
(2) 18
(3) 4
(4) 10

(5) 3= T ¥ =y

aﬂt“ﬁm;gﬂm

30

(M 1
@ 2
3) -2
@ -1

(5) Fm qﬁim awd

qﬁm:—d-ﬁ'ﬂT n=-—2%,fﬂ-- !
Iﬂ""_—3n12+3m+3n+.3n2+naiﬁ‘lhﬁﬁm;
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. 4 ]l at
gix bells COMmence tolling together and tr::'ﬂnds
intervals. of 2, 4 6 g 1o and 12 s

P ; ; o
Mapantwely. In 30 minutes, how many fmes d

these six bells toll togetpar
{1} 1B

(2) 18

@ 4

4 10

-{5) Not attempt;gﬂ

LCM of two prime numbers x and y (x > y) is 161.
The value of (3y — x) i5 - =

1 1-
A2) 2.
3 -2

{4 -1
(5) Not attempted

Ifm=-—4 and n=—2, then the value of

3 =8m? 4 3m + 3n + 302 4 0% i5 -

(1) —126
(1) -126 2 -128
(2) —128 (3) —120
3 -120 @) 124
(4) -124 (8) Not attempted
(5) Io 4 Z1 =eg .
: 1
i i If 3718 = 02689, then the value of — 1
- _ 00003718
7. LT N - oW _wiwm o .
W 3718 2689 3, W 00003718 t is : :
(1) 26890 ' (1) 26890
(2) 02689 (2) 02689
(3) 2689 ) (3) 2689
(4) 2689 (4} 2689
(6) I i T =R
Al . (6)  Not attempted
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o, s SAE-HI it 3, e 4,913!’”73'!’

T

(1) 74,085
(2) ¥ 4,096
(3) ¥ 3,096
(4) = 4,076

(5) I TH <1 TR

v O F R AT s oo 39 F o0
fiay f T | AR 38 el 9, od @ b R
ﬁaﬁlﬁmm?ﬁnmﬁ&ﬂﬁmm,_?ﬁ
g vl 7 5,100 s Afa wt | 98 AR

(1) ¥ 1,50,000

(2) % 1,70,000

(3) = 1,20,000

(4) ¥ 125,000 _
(5) It T & 9Ed

g% 8

40 =t ot
50 = gef
20 =t @t

33% f

(1)
(2)
(3)
(4)
(5)

& gaE Gy A o e ) de, @l g )
ward < gt # e i < 10 3 & | ByE
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R

The Pn.lncipﬂj that amoynis to T 40131 i
at EI% ' PEr annum compound et
COmpoundeg annually ig .

1 = 4,085

(2) 74,006

(3) =300

4) #4076

(5}  Not attempted

A sum was invested at simple interest at a

certain rate for 3 years, Had it been invested at
1% higher rate of simple interest for the same

. time, it would have fetched 7 5,100 more. The

fum is

(1) ¥ 1,560,000

(2} T 1,70,000

3 % 1,20,000

(4) 2 1,95,000

(5) Not attempted

The length of one side of a right-angled triangle
is twice the length of the other side and the
length of hypotenuse is 10 em. The area of the :

triangle is : :
(1) 40em®
(2) 50em?
{(3) 20cm®

(4} 33% em?®

(5) Not attempted

11. FrAigd 9 7 #0 R AT BRI 4 3:4%
I & | A I T TH W 9ESA & fw B @
30 firre it & | A W TAeR T R Mg § @

11. In covering a certain distance, the speeds of A
and B are in the ratio 3 : 4. A takes 30 minutes
more than B to reach the destination. The time

R taken by A to reach the destination is :
(1 2% (1) Z2hours
h
(2) 'Zéﬁé (2) 2-;— hours
(3) 1@ (3) Thour
(4) 1% el (4) .1% hours
(5) I T 3 = (6) Not attempted
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the candidates. Adequi™® "“35Ures arg by " KT Uiovamment of i+ ~
N M rw e .

candurt of the axaminallon. Candidatee ... T

et o A gyl :

B i i
3 g o T TSI 2 19w 9
(n '
2)
(3)
(4)
(5) IR TE N =@

18, T FEAHR TR H W h el 4 @ weR w

4:3% IUA A I 47, WA W2 1 F srm i
7 o & 1wt F v o fend ¥

(1) 187 = 2274,

th = @ @

(2) 187 x 247
(3). 127 x 87

(4) 164 x 127,
(5) e T &M =T

14, 7R JZ =141423, A ﬁ—"l'm%:
V241

(1) 04142

(2). 03652

(3 o732

(4) 13142

(5) I A T e

15. A a, b, cH A MT ab+bc+ca=08,

12.

14,

15.
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e R AL A T

e atio of milk to water in 80 IETe® of 8
pixture i8 7 : 3. The water (in Jitres) to be fldded
to it t0 make the ratio of milk to water 2 lis

a 6

@ 8

3 4

4) 5

(5} Not attempted

The dimensions. of a rectangular floor of a room '
when increased by 4 metres become in the ratio
a;LBandwhendecraasedby&metresbeﬂumﬂin
the ratio 2:1. What are the dimensions of the
floor of the room ? o '
@ 18mx22m

(2) 1Bm=x24m

3 12mxBm

(4 16mx12m

(5] Not attempted

2 o 4| 51 .
=1-4142 th iz equal to

If 42 = 14142, ok Pl

(1) 0-4142

(2)  (-3B52

(3 0732

(4) 1-3142

{5} Mot attempted

a2, b2, ¢2 71 3fwa Ift]:vaavefageufmb,cisMundaﬁ+hc+¢&=ﬂ,
: then the average of a2, b%, c2 i '
W &M’ 5 pad "
- 1) M
@ o @ oM
9
@y, 3 M
4 3M° @ o
4 3
1 (5) IR A
: (5) Not attempted
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(3) (a)T@(b)

(4) (a)T9(c)
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et &

(c) WHiieE w1 9% B & 5 v o e 2|

Wl T & o e e 9 2w
1 fow e e & wh e B
(1) (b)aa(e) -
(2) +ae (a)
(3) (a)74 (b)
(4) (@)= ()
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Which of the follow
about compounds 7

{a)

ing statements isfare correct

It shows the pro

Pertig 4
substances, 8 of the constituent

(b}

(b) and (¢)
Only (a) . .
(a) and (b)

(a) and (¢)
Not attempted

Which of the following statements is/are correct

: al:m_ut the properties of a Calloidal Solution ?

(a) A c_ul]'-:sid is a heterogeneous mixture,

(b) The solute particles settle down when
colloids are left undisturbed, hence, colloids
are unstable. '

Colloids are big enough to scatter a beam of
light passing through it and make its path
~ visible. ' L e
Choose the correct option from the codes given
below : : " b
(1} (b) and (c)

(2) Only (a)

(3) (a)and (b)

(4) (a)and(c)

{3) Not attempted

i

Which film won the ‘Best Film on Social Issues’
Award in the 68™ Naticnal Film Awards under

_ the feature films category ? :
1) ez (faafen o wmew) ) (1) Taledanda (Beheading & Life) (Kannada)
2) FReEm () () (2) Natyam (Dance) (Telugu)
@) Wi (afiw) (3) Mandela (Tamil).
@) R () (4) Funeral (Marathi)
(5) 3o % amER (6) Not attempted
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(3) neifdn

4) To% Wy

(5) I T T =ed

2. BRER ¥ il A F Frfeien § & 9 sdm
A e g

(1) & 3gm

(2) siamrea g

(3) =it 3gim

(4) = 3N e v

(5) I 7 3 Wy

E-ﬂﬂﬁﬁlﬁm-ﬁmwﬁmwﬁiﬂﬁ;@%?
- (1) et :
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§ as per Government of India U™ ~amnromising the high star~- -
ine candidates. Adequdt® MASUres are being implamented for the salehv = ™' : '

ot developed DY
described the

Frﬂllk Notestein .in 1945, il

relﬂtiﬂnﬂhi'p between econpmic dﬂ\l't.}lﬂpmen
(1) Loss of lives in epidemics

@
(3)

(4)
(5)

Cartographic boundaries
Social crime rate

Death and Birth rate
Not attempted

Which among the following will no# be ordinarily

~ considered an outcome of globalization ?

(1)
(2)
(3)
(4)
{8)’

Foreign Direct Inve_stmen_t
Multilateral trade agréemen’tﬂ
Outsourcing

Tariff barriers

Not attempted

Which of the following industries has the

- maximum concentration in the Chhotanagpur

Platean region ?
(1) Fertilizer Industry
Automobile Industry
(3) '
(4)

5)

Sugar Industry
Iron and Steel Industry
Not attempted

Nataraja is g bronze sculpture in g dancing
Position associated with

D Kali
(2) Nandj
3) . Krishna
Shiva

Nﬁt attemi}ted
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. exception Import Error

It ig ra;
name is not, defined.

It is rajsed When the index or subscript ina
Sequence ig gyt of range,

It is raised when the requested module
definition is not found.

4) It is raised when the end of file condition is

reached without reading any data b?"
input ().

24, () Not attempted
GERCRCRE !
(1) DB 24. Which of the fullowing is mof a Database
TEREIRE THE Management System (DBMS) ?
' - (1) MongoDB .
(3) #EsQL InE'if
) (2)  Microsoft Excel
14). et @ MySqL
(5] Eﬂliﬁiﬂ =Ted (4) Oracle
 {5) Not attempted
95. I Jzafdn A F T FET G W TH GEE , :
T U FEE AS W qg B R 7 25. What is the name of the Networking Topology
(1) 2w where each communicating device is connected to
: At a central node ? :
@, e {1) Mesh Topology
@) < Al (2). Star Topology -
(4) f 2Tt " (3) Bus Topology
(5) W TE #1954 (4) Ring Topology
: {5) Not attempted
26, Frfrien & & S v HEs WG w1 sz 78 L .
ko ; 26. Which of the following is met an ezample of
. ' secondary memory 7 '
VB s (1) Memory Card
@ 9% 3 Fad (2) Read only memory
@ wefem 3w (waA) (3} Hard Disk Drive (HDD)
(4) #Em (4 CDROM
(5) T TE & =\ {6 Not attempted
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gfaﬂﬂﬂaaﬁaags F wfaam # s
ﬁ%,ﬁﬂﬁiﬁﬁﬁ%ﬁmﬁimﬂﬁ%aﬁﬁ

s Tl B TSR

e A S, 1947 F1 R
TR I

7w 78 1 9T

(4)
(5]

Pl Y WEFHR WG 6 A W WG
m%ﬁlﬁmﬁﬁqﬁmﬂm%ﬁnﬁrﬁﬁﬁﬁ

fip v A T o ?
) wad, gEl
$HI3 @A
AR
ot . AT
Fer T & =

(3
(4)
(5)

ﬂ(aﬁﬂﬂﬂmmmaﬁﬂf%@é%.

FAI ) FE 8

(1) whmfaEm

(2) TR

@) T

(4) SeEEE
(5) mqﬁimmﬁ

WW’WH‘HE

(1) Wae@sl F ATES T ¥ fr wr fafes
ST g T T R s

BYA I AW '

Jreet Aee F OHEH &G afaq;m‘f ¥ fm
e HHA

(2)

(3}

28.

~ which
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jcle = -

- the final (last) Artmle of the
tteﬂ the provision related to
fﬂlluwlﬂg
Citizenship Amendment Act, 2
Furmatiﬂn of New States
Repeal of the Indian Inde
1947 :
Proclamation of Emergency .

Whlh ”fth

019
(1)

(2)

dence Act,
@ pen B
(4)

5) Not attempted

A tryst with destiny’, is 2 famous EPEE?h.
{llustrative of India’s independence made by
of the following members  of the

" Constituent Assembly of India ?

IR T &

@
(3)
W@
®

2y

g P. Mukherjee ;
V.J. Patel
J.L. Nehru

. B.R. Ambedkar
Not attemﬁted

(1)

The study of writings engraved on hard surfaces
guch as stone or metal is called '

@

Icnnugr_aphj
Typography
(3) Calligraphy
(4)

(5)

Epigraphy
Not attempted

“Matdata Junction’ refers to :

radioc series produced by Election

Commission of India for voter awareness.
name of a new railway station to raise voter
awareness. g
special polling booth for Divyang voters.
training programme for officials to hand]
postal ballot.

Not attempted

(1)
(2)

(3
(4)

(5
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W, 3 g w3 | | -
@ R ; @) v % T A
® RS | O SidmE
4) mmwﬂﬁ:aﬁg&mmamw W o B e

o |
b ST _ {5) IR T I ww
S ket v |8, v w e R — Tt I
| ﬁaﬁﬂamﬂ‘mam%; . "'.Eqﬂﬁmﬁﬂ“m“ﬁu"mgﬁ
v e R v T 7 S AT
SV Il g kil o
(2) WifdHHA Y {3) Y T
8 W - (4) weIEH Ao
@ & ©(5) T e
(5) WA 4 =rwR ol
| - 38, TH A R A g v W B )
34, fem o farm wreg # Jwe w1 wEm e 2 (1] Iﬁﬁ“ﬁ'
= ' (2
s W ' @ s
e A W)
(4) WEMEW .
el Lopated : (5) 3 al & =Ty
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(1) e

(z) W

@) FE

) e

(5) R E & A

99,

. 40. freaferian & & R s w1 e g A R 7
1
@

wre At 8 T = T

st o H WY A - owive w6 @) dva
Al

(3) T <M @ wEe § im =3l = gg @ o H

# e =1 vt fre o R
311 e T W = oo i A e
3R A '

4
(B}

g ﬂﬁm%mﬁrﬁwmﬁisﬁﬂﬁgm
1 Gy 7@ T T R 7

(1

49, Preffan § & WA R 9@ T H SR
7t 42 |
(0
(2)
(3) W@l
(4) W
(5) I Al & =

"

ik

43

o R

K&y
. A2y

' (3’::

(5)

(D

GET IT ON
Google Play

£ 1 e 3 fom 7

O 1 O ety i+
: = i

?ﬁg’ﬂﬁﬂmmﬁa}qﬁﬁh‘“

ﬁqmaﬁ%mmﬁmﬁﬁ'ﬁuﬁm

e i g B 7

A @A @
@ﬁ‘iﬁﬁﬁﬁﬁi't '
e M EH B
{4) W*W?W“‘f?w? i

ﬁﬁﬁﬂﬁ[ﬁﬁ.ﬂqmﬁﬁ:ﬂﬂﬁ'ﬁﬂ T 27
o '

e, wi

#ef o

i

(2)
(3)
(4)

(5) IR T & e
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48, Rearrange the following parts of a sentence
labelled as PQRS to, ma]r.a a meanmgﬁll

sentence.
P. leave no regret are
Q. gained over i;ﬂﬂmne
R. ti'xe only victories which
8.  those which are

(1) PGSR

(2) QRSP

(3) SRQP

(4) RPSQ

{(5) Not attempted

- 47, Ghmse the alternative which best expre.sses the

given sentence in Active Voice.
It is being read by us.
{1} We can read it. .
{2) We have to read it.
(3) We are reading it.
(4) It will be read by us.
(5) Not attempted

48, Read the sentence to find out whether there is
any grammatical mistake in it.

Mark the number of the part with error as your
answer. If there ia ‘no-error’ mark (4).

The acientist was seemed to be expited

. A é : B
~ over the result of his experiment.
. ) U .
(1 B
(2) A
@ C
(4) No error

(5} Not attempted

GET IT ON
Google Play

Read the following passage carefully and ansu,,
questions 49, 50 and 51.

Tiger is one of the key wildlife species in the faung
web. In 1973, the authorities realised that the tige,

| population had dwindled very fast. The nmal.j-::-r'1;]1:\93,'..a

to tiger population are numerous such a8 poaching f,
trade, shrinking habitat, depleinun of prey base speciey
etc. The trade of tiger “sking and the use of their bone
in traditional medicines left the tiger. pﬂpﬁlﬂmf’“ on the
verge of extinction. Since India and Nepal provide
habitat to about two-thirds of the surviving tiger
population in the world, these two nations became
prime targets for poaching and illegal tradmg‘ “Project
Tiger”, one of the well-publicised wildlife campaigns in
the world, was launched in 1973. In India, Tiger
conservation has been viewed not only as an effort to

|save the endangered species but also as a means of
preserving hmtype of sizeable nmg:mtude

. |49. Find out a word from the abuve passage which is

the antonym of ‘legal’.
(1)  illegal

(2) threat

{3} - extinction

(4) fagnal

(5) Not attempted -

50. The skin and bones of tiger are also used

(1) to save tiger from extinction

{2) in preparation of food products

(3) as raw material in small factories
(4) _ in traditional medicines

{5) Not attempted

51. The major threat to tiger populations is P
(1) Poaching for trade
(2) Industrialization
(3) Lack of Tiger Reserves
(4) No Government policy
(6) Not attempted

MARA/C2/Page 12
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' ottt s, G b 2P G

thair gwi anr * ~

: which :
2. g phrest underlined in the following sentence
i make it.gra.mmatically correct ?

wShe ghﬂwﬂd courage in advocating policies which
| erc not common acceptability then.”

(1) common in acceptability than

() commonly acceptable then

(3) commonly accepted then

{4) then common acceptability

{(5) Not attemﬁmd

53, Choose the most appropriate preposition to fill in
the blank. e
Visitors in the gardeq are prohibited
walking on the grass.
; (1) for _ :
[ @ to ' Ny
n (3) from : ' :
(4) with
(5) Not attempted

Which one is the correct indirect narration of the

following sentence ? :

He said, Two and three is five’ _

(1) He said that two and three was five.
' {2) He said that two and three were five.

(3) He said that two and three are five.

(4) He said that two and three is five.

(5) Not attempted

55. Fill in the blank with the most appropriate
option given below. :

He was advised _ the geminar without

: : - e the alternative which best
of the phrases given below should replace 56- - G0 '

ﬁ?l‘

59.

GET IT ON
Google Play

eaning of the underlined jdiom-

He had & hair-breadth escape fro™ the 3
() fighting -

@ jmpractical

. (3) very safe

(4) narrow _
(5) Not attempted

Life history of a man written by himself i& called
e ——— i I

(1) Calligraphy

(2) Bibliography

(3) - Biography

(4) Autobiography

. (5) Not attempted

Qelect the word that is most similar in meaning

. to the given word.

Prosaic
(1) Cunning
(2) Patrictic
{3) Uninspiring
{4) Poetic

(5) Not attempted

Find out the correctly spelt word.
(1) thesaurus

{2) thesoraus

(3) thasaurus

{4) thisaurus

(5) Not attempted

Sesnartio. 60. Find out the mﬁectly spelt word.
(1) ot to attended (1) prettentiousness '
(2) tonot to attend (2) pretantiosness
(3) not to attend - (3) pretantiousness
(4) to not attend (4) pretentiousness
. (@) Not att
0 attempted (5) Not attempted
MARA/C2/Page 13
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When was the State Council of Ed'-lﬂa!;iuua

g1, wham & 7 M swum o g odwe 7|6 .
T A Research and Training estahlished in Haryan,
(1) 1960 (1) 1960
(2) 1965 (2) 1965
(3 1979 (3) 1879
(4) 1970 (4) 1970
(5) I A SN 9T (5). Not attempted
- : : qp is situated in whig
e ol e B et g o b2 | Ef.ii‘fgfi?afi;iif” |
W) “FEHE {1) Yamunanagar
(2) wigEr @) Faridabad
(3) T I ——
(4) 9HME Y Pasiat
(6) 3 T 1 e (51 Not attempted.
83. B F T 9Y TR 7 63. Which is the state animal of Haryana ?
(1) ) Tiger ' iy
@) (2} Horse
- (3) wh (3) Elephant
) e e (4) Black Buck
(5) T {5} Not attempteﬂ
gt 'mﬁ%ﬁm%gﬂm%wﬁmm 34- Which fort is known as the Gateway of Haryana ?
i - " (1) Kanod Fort
(1) R (2) Maham Fort
(2) Wi T (3) Gohana Fort
(3) w7 e {4} Bahadurgarh Fort
(4) R 1 fave {E.l} Not attempted
(5) I @l T e
' ; 65. Haryana is located around 300 miles North of the
65. E@mn & T 300 i I ¥ e 7 o '
(1) ofiafa T (1) Greenwich line
(2) Fe (2) Equater |
(3) (3) Tropic of Cancer
(4) TR -(4) Tropic of Capricorn
(5) I & e - (5) Not attempted Baie
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GET IT ON
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Preparatlon s+ .- ~-=twas ””-?Ilvojd,',,:,:'f?"ﬂﬂs. NT4 :;:‘:::’E fo Gy - | o
i Home
g6 AT AT A S rwww day, |06 eredit for propagating ¢
Movement in Haryana goes'to :
wm ™ i (1) Ram Kishore
@ IR e (2) Thakur Ram Singh
@ S (3) Lala Murlidhar
@ T T (4) Pt. Nekiram Sharma
(@ T I (5] Not attempted
1. i A 8 o whamm s o v e e 9 g7, Which of the following is known as the Taj Maba!
) @ = uwa of Haryana ?
(2) - sonfem G F ww—n (1) - Sheikh Chilli's Tomb
(3 !ﬁiﬂ RES (2) Ibrahim Suri's Tomb
(4] e HET (3) Sheesh Mahal
(5) 3wt i:n e {4) Jal Mahal
' (5) Not attempted
= mm;ﬁﬁmﬁ@wmﬁm 68. Which among the follumng folk dance forms is
1) = not performed by men ? .
o (1) Damru _
@) e (2} Chaupaiyan .
5 3. Loor -
R ; (4). Daph.
W) ;ﬁg ik {5) Not attempted
. 69, ifeq warft < w1 = eftn  Frefefn # | 69. P‘I: Lakhmi .Ch:aud_ was born in which of the
v & g A ? " following village of Haryana ? '
(1) dwen {1) Jantikalan
(2) (2) Sihi
(3) - H@rEw (3) Mokhra
(4) TG (4) Nahri
(5) Io T &1 e (8} Not attempted
70, it # fegm aon gea dER @O S9EE T SR 70. The fﬂl‘t of Asigarh situated in Hansi was built by
+ Frdt = By g adt & zaT ? Prithviraj Chauhan in which century ?
(1) 1447 wdt (1) 14th century
(2) 174 = (2) 17t century
(3) . 126 @i 3) 12" century
@) 159 wd (4) 15 century
_ (5) T ¥ e (5) Not attempted
MARA/C2/Page 15
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71.

72.

73.

74.

75.

(2)

e

g % o 0 3 e =0 oo 2 2
(1) gaFel
(2) Fu
(3) UEd®

(4) T
(5) IR AR &A1 =TEA

31 fegwa, 2017 % A whawn & wiw & 7§ BBY
Tran o farqa s wn R 2

(1) ST W A

(@) v = g

(3)  wwTEw T e

(4) faoelt s=mel AeE
© (5) I I AT 4w

Mﬁﬁ?ﬂ_ﬁmmmmﬂﬂmﬁr
YEARY g1 7 i

(1) 2014

(2) 2015.

(8) 2011

(4) 2013

(5)- mqﬁéq'ramﬁ

sﬁvmnﬁrﬁrmﬁﬁﬁasﬁﬁwﬁzmn 21 % |

Tow el A E R 2
(1) 1200-45 g
(2) 154045 g2
(3) 1000 %fe

(4) 1805-45 3
(6) I AEl g1 g

e Toa awe % R o 2022 - 23 F g1 wwe
TR ?

(1} 62%

2:1%

46%

43%

I E &1 =ed

(3)
(4)
(5)

LAARA NI I DA~ 48

-H-'--—ET:.-___——

71.

72,

73,

5.

‘Which district in Haryana

- (2)

74.

(5)

GET IT ON
Google Play

has the high,

literacy rate 7

(1) Panchkula

(2) Kaithal

(3) FHohtak

(4) Gurugram

(5)° Not attempted

What is the ﬁﬂl form of BBY achexﬂe lﬂ-l-lﬂcl?e.j
December 31, 2017 in Haryana 7

Bhavantar Bharpayee Yojana

Bharatiya Bima Yojana

(1}
(2)
(3)
(4)
(a)

Bagwani Bima Yojana
. Bijali Bachao Yojana
Not attempted

In ‘which year was the Direct Benefit Trans

(DBT) Scheme launched in Haryana - 7
(1) 2014

2015

2011,

2013

Not attempted

(3)
(4)
(5)

What is the increased per capita consumption
electnmt_',r in the year 2020 — 21 in Harg'a.ua 7

(1)  1200-45 units
(2) 154045 units
(3) 1000 units
(4) 1805'45 units

Not attempted

What is the. percentage of total expendit
allocated towards Police in Haryana St
Budget for the financial year 2022 _ 23 2

(1) 62%

(2) 21%

(3) 46%

(4) 4-3%

(56) Not attempted
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11.

79.

(1) . Moti Lal Madan

Google Play

; st
Shori. Bazar i thtak is Haryana’s large
market,

(1) Auto Spare Parts
{2] Wuud

(3) Cloth,
(4) Grain
(5) Not attempteq

Who is the first wregtjer to win a Gold Medal in
Commonwealth Games in 1958 7

(1) Master Chandgj Ray
(2) Lila Ram Sangwap
(3)  Sajjan Singh

{4)  Pahalwayp Udaychang
(5) Not attempted

Raghuvendra Tanwar
(3) Sumit Antil
4)  Om Prakash Gandhi

{5) Not attempted

Rani La.kshm Bai Awarq ip Haryana ig awarded
in which areq ? . -

(1} Science

(2)  Socjal Work

(3) Literature

4)  Sports

(5) Not attempted

Which breed of b
Haryang' 7

(1) Mehsang
2)  Murrap
(3) Bhadwar;
(4) Niti-Ray;

uffalo is called the ‘Black Gold of
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81.

e

1913 # W I e 3
.ﬁqﬁﬁyfﬁ%@‘wﬂwa:ﬁww
(1) e R

(2) W e

(3) W

4) . 7% fEE

(5) I TE & TR
mm*“ﬁﬁﬁmmmﬁﬁm
(1) 26 #¥d, 1994

(2) 15 ST, 1994

(3) 29, 1994

(4) 317, 1994

(5) IR E &A1 e
qn.ﬁ:.nhﬁﬁqaaﬁi'a%émﬁﬁmﬁqw

ﬁimw,aiﬁﬁézﬂmaﬂ-ﬁﬁuﬁﬁmm@
9 |
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A

Who was the first Indjan 1, be appointed as the

first Chief Justice , :
s ce of the Punjab High Court in

(1} Gopal Singh

(2)  Alok Singh

(3)  Sir Chhotu Ram
(4)  Dr. Sarup Singh
(5) Not attempted

When was the first Haryana State Finanee
Commission formed 7 -

26" April, 1994
15t October, 1994
274 June, 1994
31° May, 1994
Not attempted

(1)
(2)
@
(4)
(5)
MK. Gandhi was arrested on which date from

Palwal railway station while going to Punjab to
protest against the Rowlatt Act ?

(1) - 10 30, 1919 (1) 10% April, 1918
(2) 1033, 1918 2 10% April, 1918
@ 103, 1015 (3) 10% April, 1915
@ 103, 1917 4 10% April, 1917 .
(5) I T T amﬁ. . K Nocatseuited
TN F e ARme # YEA AW R ? - _ _
(1) ®HE B84, What is the ancient name of district
@ g ' Mabgndragarh in Haryana ?
(3:' m '[1} Kanoud
&) T (2 Saty:evpuram
(5) IW qﬁ &1 =T &) Hapimad]
(4) Sairishaka
Wﬁqﬂ&ﬂmkﬁ;ﬂmﬁmﬁ : {5} Not attempted
et &7 85. The Shivalik Hills are nof found in which distrc
(1) I of Haryana ?
(2) fame (1) Yamunanagar
(3) TaHen (2) Sirsa
(4) I : (3) Panchkula
(5) 3w T & =Ed (4) Ambala
.m _“‘-—-____ (5) Not attempted it
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ﬁm‘iﬁﬁiﬂ%@m zﬁ'\”"li | AR T | 86, Thm statements are followed by three
Hif 7 TEE ¥y A qY TR oy E:unclusmna. Take the statements to be true even
# freem/fiFes § W Freg Re M if they seem to be at variance from the commonly
s e . known facts. Decide which of the given ¢
W iy R conclusions logically follow(s) from the given to
R Fy % statementa. v
+9 34“?3@:& SR g Statements :  Some apples are gl;apes_
g (D TS . All grapes are bananas. e
(I 5 4y E = %) l Some plums are grapes. fig
(III)  =efy 33 Q:FE £ Conclusions ;. (1) Some bananas are plums.
(1) = NI Frerem 2 (II)  Some apples are bananas. it
@) F 1M I Py ) i it f(IHJ Bt e
¥ ollowsa E
) T I I Pererd § (2)  Only I and 11T follow i
W == 1 P ¢ {(3) Only I and II follow
- (5) I AE T AR (4)  Only II follows g
' (5} Not attempted f
87. W IRMA # ‘o W w2 0 :
XaL=2 B7. What is the valué of ‘o’ in this pattern ?
P aH-= a }: o L= 2: . .
LaF=2 Pall e
@ - g
3+ (2) . —
: 3 +
49 = : 4 +
(5) - Iu et ¥ =Ed (5). Not attempted
88. P,Q, R-_E‘? T frfr wom | PR AR, B @ 88. P, Q; R, S, T went on a picnic. ‘P is the son of ‘&Y.
P @ IR SHEEAPH wrd & | But ‘Q’ is not the father of ‘P, ‘R’ is the son of ‘S,
e, o3 & Ot R | ' who is the brother of ‘P, “T” is the wife of ‘S'.
i How is ‘P’ related to ‘R’ ?
P R Y F gy ¥ ? .
T o
2 T 5
@) s (3) Nephew
4 (4) Brother
. : ot attempte
5) ot A& &A1 e (5) Not attempted
_ MARA/C2/Page 19 W & ﬁ'lémr suce;m ROUGH WORK
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JE—
| ‘ writt’e“n as
gg. Tt T FE i XYZA %I 1234 3t EFGH %189, In a certain code language I‘i"“ra_fL ;:;&E writte?
sgp10 ¥ ¥ § TGN T}, A g g W i 1234 and EFGH as 78910. How **
AXGE ! RN in that code language ?
(1 4917 (1) 4917
@ 42T (2) 4217
(3) 4197 (3) 4197
Wy a7 (4) 4179
@) ST ' (5) Not attempted _pchal went
; : D e e, Babita gﬂ.d Giaﬁ receivﬂd:
g0, 7 waferl wftren, adfir st wwe ww el 4 nd 1|90 Three r:::umnt. i, he P aid nd
ﬂﬂﬁﬁﬁ?ﬂ?ﬁmﬁﬁﬁiﬂmﬂﬂétﬁlﬂ tui.ireaidgasmuch ﬂsﬂﬂbﬂﬂ -
8 gy sl e 3 < g @ wR S Ampaepst s pal paid- 1 €
5 _ 2 : :4 1 a5 much as Chan aid
ﬁ?ﬁﬁﬂ%ﬁﬁﬂﬂwﬁmwa,ﬁfmﬁ Bapte P g : ¢ is the ount pac.
- et ol w6 e R R 2 bill paid is T 360, then wha
: by Babita ? o
(1) <200 1 200
2):: K (2) <60
(3) <180 T e
. (4) w100 @ =100
(5) I A &A1 (5) Not attempted ,
o1, 3 fow my v 3 vl @ w OH T T A FH 91, Find out the word which cannot be formed by
T IIeg Wl A AT ; using the letters thbé given word :
VERIFIED VERIFIED
: (1) FRIED (1) FRIED
(2) FRIEND (2) FRIEND
(8) DEFER (3) DEFER
{4y . Dm ’ {4) DRIVE
(5) 'Ie e = {5) Not attempted
g2, fdt wH F¢ w1 # DFGHJ 1 FHIJL % 9 #|92. In a certaid code language DFGHJ is written as
forat W & | 36 g2 o § AUDIT %t 758 550 FHIJL. How is AUDIT written in that code
fergr =g 7 ' language ?
(1) CWFIU (1) CWFIU
(2) CWPIV (2) CWPJIV
(3) CWEJV (3) CWEJV
(4) CWFKV (4) - CWFKV
 (5) weR A Tn W (5) Notattempted |
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| the
Select the combination of numbers S0 that

: : a
letters arranged accordingly will form
meaningful word :

() 3,4,6,2,1 5 5 6
(2) 6,4,3,2,5 1
(3) 3,4,5,6,3 1
(4) 6,4,3,1,2 5
(5) I Ay

I L B O E M
1 2 3 4 5 .6

(1) 3,4,6,2,1,5 '

2) 6,4,3,25,1

(3) 38,4,5,6,2,1

4) 6,4,8,1,2,5

1 S

. (6} Not attempted
o4 Frerefien % 2 frm o w4 |
(1) = wemm 94,. Find the odd one out.
(2) 3= T (1Y Indian Ocean
(3 T 6w

(4) W T

(5) I 7 ¥ =M

(3) Bay of Bengal

(4 Pacific Ocean

(5) Not attempted -
s o 32 e A2 g A Rk
RIRERIDE 7| :

() e - fe

@ WR-w

(3) I — e

(4) @l — T

(5) IR T ¥ =R

Choose the mrrec.t option in which the words are
related in the same way as in the given pair of
words : ' '
Singer : Charus

(1} Artist — Paint
(2) Robbers — Loot
(3} F’Iﬁwms = Bouquet _
(4) Muszicians — Song - -
(5) Not attempted _

.96. @ wdt e -1 = i i A3 Ty gu % www | 96 {;;U::"’_’ the correct option, which is related as
’ a :

11:120::256:7
11:120::25:7

' 224
e (2) 624
e “(3) 250
G e (4) 125
4 125

& (5) Not attempted
(5) TN _
MARA/C2/Page 21 ' TF &1 i FTu *I / SPACE FOR ROUGH WORK
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D, E 3 : X
7. A,E':Cr Fﬁwmﬁ%ﬁﬁaﬁ{nm &B.C,D,Eand

gﬂ T ﬁ % | ‘D, B % ﬁmw e ‘3 thi St D in F are ﬁi-tting in a c:i.l_‘l:le faqiug
N B, T RELL ‘ and ‘B’ is not b the immediate right of ‘B
Fde @ P ¥ v T g e is between ‘A’ the immediate nejgnbour of F. ‘C
H ﬁ:[ % ? v Y and lD‘. w-hﬂ are the neighhuurg aof
(1) ASRB ; .
2) C3mD ' ‘E; *éﬂﬂdﬂ . x
and D
i iin | _ | (3) BandD '
4) E e {4 AandE
(5) I A : (5)  Not attempted

98, I G SR R o o < e A T |98,
wEartt, N A oo fry oft 3, % @ R | I

*fm the hard work done by you at your workplace
15 hijacked by one of your colleagues, _Wi_l'il is a

w1 H 7 . _ good friend of yours. You will :
(1) oftgm = St i, ity ofom w0 T | (1) continue hard work as hard work always
W A=IAA R | : - pays. o _
(2) a1 T =Y Y = w7 (2) start praising about your work yourself.
(3) el Big & | ~ (3) leave the job. _
(4) w8 gEaife & o Il e Sl | (4) criticise him in front of other colleagues.
(5) IR T TN WmE _ : - (6) Not attempted : 1
99, W q@Wen § p 1 HA WA HRC ; 99. Find the value of pin the series :
1 1 1 1 liiillp.!ili
!E!ﬁbps Eim 3 [ 3 9 8']. 243
: ' ' .
o A =
1 , 1
B v ae
1 1 1
- 3) —
e 27 _ 27
(4) A (4) 1
- 21 _ -5 e
(5) IR A &1 wEd . o {5) Not attempted
100. = ﬁq s ﬁm’i # 9 ga g w T Hifte | 100. Ch‘f““ the missing number from the given
e d@ el i LKL options that will complete the number series : '

: 55, 56, 58, 61, 65, _ : 55, 56, 58, 61, 65,
1 T {1} 71

(2) 72 | - @) 72
(3) 170 “ (3) 70
(4) &9 4 : _ : : {4) g9
(5)- ¥ T & =Ed ' (5)  Not attempted -
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